AR HHERBBRUARY IVOIEAN (MmBH) I ——"

“F7E A B CPESTe) FHICRITS, —BLRoTBYET, (kB R OASy 7 O ;Um“ BT M EE T, CHERR FE,) MMW _/."”
(—ERARERE, F-ARICRIRHIHALTSNET, A= —FIZ TR TS0, EEBSH 756, MELEOFETT, ) | S RIS D72% -::M/é X
(20165 2B) E—B®  S«=EHH 206 £ 1 F 28 B EBREGHMIES 30—

TEL: 026—-256-9677
X RIS, BRVELRH LA THfA— VI, info@tkc—g.jp FTITEHAERLIZEN, [20164F 2H] <~X—v 1> FAX: 026—-256-9688

%52 H ; T | @ e KREVFERA/ ) W 7 & 71— RE(MAX) . L

o |77 WAL, Fiu IS - T e e M0 %, O OMEIEREERLTOET,
1/31 | B A% |CRHMFED & X HR % |@H€ﬁ | 4TENE | 4&1&5 69.94 | 37.97 | 100.0% 2 110 [<EesE> 25> 3R=80.0%(TE R AKAKE=20.0%  #7°8[=]=4.0%

(J1-2&) EDDOHIRREZY FPA (0/8/16/100+  [A]) &7&12 (#57%=1/105) . 3 165 < 3K°8[E]1=30. 0% < TR I O R EL IR 0[E]> « 457 16[5]=26.0%)
() KAV =MB, EF =—=U1AHEK 9 495 <TEZE>16R=1.0%CHK"100[E]+ o )
@ i E A RAEY— T AT I 16 880 2> [138RR=19.0% ] (Y°8[A]=2.0% - 16[F]=17.0%)
@ ERIEIR (AL <9R=19.0%>0r<2R=9.5%- 16R=9.5%>
@ E = LT B4R SHE A REORFE T4 THE 1000+
@ B RIEZ =[5 0]]% 17 @IREH) =72 @I8EAE)—) @I AENATHL] S 100[RIZHE X THHRTE Y8R ke
@ /)1 k=7l | | | | S 100[EI AT O Ba I, FFELH 1001 2R A
7H M |[CRJAWS HI1AY2 VIR | 18 100=][ 3&1&5 319.7 | 131.9 | #1166.0% 3+1 468 |[~V] <HEZ> EFE4+ T 1R=60.0% K 10000+ o)
&8&14&14 #£100.0% k35| 585 <FEZE> 6+ T 1R=6.0%(K 10000+ o)
X%ﬁ“w—éﬂ?:lﬂﬂ (Hx7%=1/376.6)] 9 4+1 585 <GE > b FZ5R=34.0%(HF4E100/H])
MRV, E74yh—$kim=1408H K 6+1 819 [[EF2—] <FeZs> 13+ F1R=30.0%( K 100E]+ o)
@ E = LT H AR 14+1 | 1,755 s> 14+ F1R=70.0%F & 100[E+ o )
@ ERFEZL | =72l @IREH  =H) @ISEAT)—) @IEF—ELHL) 100E1A 7 2 THERVE 4 RICT K HiEft
@ /1240 R = 1/300 (Y D 3) | 100 BRI . FFH 1% 100ERZ RIS
KERRR |CRIFZE ! RIS =/ LO2 | VHEST | STH 160[5][ 3&3&10 319.6 | 97.38 | 153.0% 2+2 352 [[~V] <FeZ> L4+TF2R=48.0%( K 160[E])
B 1005 &10&14 #£100.0% 4+2 560 <25 > b5+ T 1R=5.0%(H4"160[E])
KTFVT Ay h—=1018E Bk (ST=160) 8 5+1 592 GE > £ IZIR=47.0%(FE4E100H])
@ =TT BTk s B 74y h—=1448 B Bk 9| 936 [[FEFa—] 2> L2+ F2R=22.3%(H K 160[E])
O BRI | =72l @IRES =HY) @ISEAT)—) @IEF—EIHL) 14+2 | 1,600 <S> F14+ F2R=77.7% (% 160[E])
@ /YY) | FER =71
CRIFZ ! UARIEA /L LAOL| VST | STH 16005 1&3&10 239.2 | 117.45 | %156.0% 2+2 416 |[~Y] 2> B4+ TF1R=10.0%4K160E])
W 100 &14&14 #£100.0% 4+1 520 <> |4+ 2R=46.0%(F 4 160[H])
AV EER=1/ (ST=160)| 8 4+2 624 <GE > b 3E9R=44.0%(Hp4E 100[E])
@ E = LT H AR MRV, E74yh—4ki@=140EE R EE9 | 936 [[HEFa—] FeZe> -2+ F2R=22.3%(HK"160[E])
@ ERIEZE | =7 @IREH) =Y @ISHAT)—| @IET=—MILiH (k) 14+2 | 1,664 <HEZE> 14+ F2R=77.7% (% 160[E])
@ /YY) | ffEE=72L
#U#{R&D|CR7 Y = 7N TK —TT LF2FR | v Oorl | 3&3&4 226.0 | f%E/58 | 4150.0% K4 520 [[~Y] <BRED>324R=50.0%
@ = R DR REZS | (4% &5&14 #k62.0% [ 10 #6 780 G > 326R=50.0%(RF4E0[])
@ FiE =B F15 | 1,950 [[VAE] <RI 3E4R=11.0%- F215R=51.0%
@ REL | =72l @IRES) =HY) @T4EAT)—) @I ANEIEHAL) Gl > F24R=38.0%(Ff4E 1[A])
@ /140 | HER=91/30 (~V) +1/4.07 (FF =) | | SYCH 3 5 AT TP C oD B A O 100[E




¥ ARSI, BAVERDHLG A . TR A— VI, info@tke—g.jp FTITHEAELIZE N, [20164F 2H] <= 2>
56 H : mare | smar s R RYOMERA/ ) |k 7 5y 71— HERE(MAX) . .
om |27 WA, BT | i u= e e A A 355, O ONIZRFEREE L TOET,
7H | SANKYO |CR F. - HME Y~ W -5 RE | IFE2FRR [ v 0| 3&3&10&10 | 199.8 |#&E/3# | #152.0% JE 2 180 |[~Y] <B#fE>4R=52.0%(FFHE 1[R])
#1£90.0% (%) 4 | 360 > AR=48. 0%(FHFEE 0[]
JFE6 | 540 [[VAE] <HpE>[JUB)ZE2R=33.0% 524R=27.0% 526R=5.0%
10 | J5E8 | 720 <D [JUB]328R=9.0% £ 10R=5.0% £ 12R=5.0%
@ FFE = [T HALEE) JFZ 10 | 900 <HE%> [JUB5215R=6.0%
@ ERIEZE =72 @IREH) =HY @T4MAT)—) @I ANENATHEL] JF 12 | 1,080 Gy > FE4R=10.0%(F4E0[H])
@ /YY) | FEE =71 J%E 15 | 1,350
SANKYO [CRZU7> 4 UT710 Y fife s 7 | 100r100 | 3&1&3 128.0 | 29.8 | 65.0% 229 0 |[~V] <HEZE>3R=18.0%: F23R=47.0%
&10&15 10 (393 | 420 <@ > F23R=35.0%(FF4E 10[m]=30.0%+ 100[E]=5.0%)
@FrE =TT HAEAE) KEFo—HER=1A 7 980 |[[&EF2—)<HEZ>522R=1.0% 3R=41.0%7R=11.0%* 16R=12.0%
@ E R =72 @IREH) =HY @I8HAE)—| @IEFT— il (k] 16 2,240 <GE > 222R=35.0%(FE4E 10[H]=30.0% 100[H]=5.0%)
@ /YY) R =721
=¥ |CRATFMIEES R ez % 33[E| 3&3&4&13 99.9 14.9 50.0% 8 5 480 |[<EEER>  ifEZE>B5R=50.0%
@ EREE | =72 @IREH) =7/2L @I8HAEY—) @I AHIEWHL] GEE >5R=50.0%(F4E33H])
@ /)N4Y =731
EXCITE |CRFEA < EEE N2—VE | 7AST | BHRE - 3&2&5 99.9 | 72.82 | 100.0% 22 2 0 |[~V] <Zs>222R=8.0%(H[El #ER=3.5%  #K T5[E]=4.5%)
()1-25) STH &7&8 (ST=75) R5 260 e >RUB[H4°75[0] |5R=44.0% TR=1.0%+ 8R=1.0%
KEF 2 —E k=2 R7 360 <HeZ5>RUB[#4°75[H] ]10R=1.0% 12R=1.0%* 13R=1.0%
RS 450 <fife 22 >RUB[ 4751 15R=1.0% 16R=42.0%
10 R 10 530 |[#5xI2] <25 >RUB[HHK75[0] ] 222R=8.0% 5R=44.0%" TR=1.0%
R12 | 620 <75 >RUB[H4°75[0] ]8R=1.0%+ 10R=1.0%+ 12R=1.0%
R13 | 690 <25 >RUB[H4°75[0] 113R=1.0%+ 15R=1.0%* 16R=42.0%
R15 | 780 |[HeEA1EEM ]~y Jhhseid, Fr 1 &pr 20 b =11 )5,
@il A RNAEY — AT I R 16 890 |[#r13¢] <HeZs>222R=8.0%(FIEIFER=T.0% ¥ 75[E]=1.0%)
@R E = LT O AR S feZ8 >RUB[#K°75[] ] 5R=44.0%+ 7R=1.0%- 8R=1.0%
@ NERIEZE | =M R]Z A~ @IRET  =HY @I8EAEY— @TAEINEHIL) <He 25 >RUB[ 75811 10R=1.0%+ 12R=1.0%+ 13R=1.0%
@ /40 | FESE=1/290.0(~) +1/218.5 (FEF =—) EZE>RUB[H& 750011 15R=1.0% - 16R=42.0%
CRty=27 N2—KE2 VHEST | ST 50[8]| 2&2&6 89.89 | 31.56 | #70.5% T1 90 [[~Y] <H#EZ> F5+41R=0.5%(K'50[a])
()1-25) W 50[a]| &7&10&10 #k100.0% 34 360 GEED> T FE1R=15.0%(FFAE50[E]) - T F24R=84.5%(FF4E50H])
MY E R = 218 (ST=50) 3+1 360 |[FEF2—] > F3+A41R=75.0% F5+41R=7.5%
KEF 2—EEk=20 5+1 540 RS> FT+HA1R=T7.5% FO+A1R=3.0% F11+41R=1.5%
XAV h—E k=108 10 7+1 720 75> F13+471R=0.5% F 15+471R=5.0%
9+1 900 KBTI R E X4 THR50[H]
@FrH = T B4R 11+1 | 1,080
@ ERIELE =72l @IREH) | =5H) @ISEHAT)—] @IEF—EI k) 13+1 | 1,260
@ /1Y e =72l | | | | 1541 | 1,440




X PRSI, BRVERDHDLY A THRFIA— VI, info@tke—g.jp FTITEARLIZENY, [20165 2H] <~<— 3>
HFEH ~ marg | ma o KEOFER/ ) |2 T 4w —VEREMAX) . .
om |27 WA, BT R w o e e A A 355, O ONIZRFEREE L TOET,
TH | & B |CRITARI-Z WAA VST | ST& 90lH]| 3&2&3&13 | 99.8 | 54.9 | #116.8% F24 | 480 [[~V] <HEZ>5R=14.4%CFF 90[E])- 16R=2.4%(HH 90[A])
()1-2&) I 1 20[8] | EBF 2 —EER=21H #£100.0%| 10 5 600 > FEAR=83 . 2%(FF 4 20[E])
@ E = [T H AR | (ST=63) 16 1,920 |[FEF=—] <2 >5R=90.0%(F % 90[A]) - 16R=10.0%(HE90[H])
@ EREE | =72l @IREF =HY) @ISEAT)—) @IET =—MEIH{k)
@ /1Y R =L | | | | |
14| & B |CREBTIR VAA AR | T ol 3&3&3 319.6 | #&E/ | £762.8% FE3 336 [[~V] <4 >6R=62.8%
(D) | @FFE=THTH 8k &8&15 #E79.6% g %5 560 GEF > 15R=37.20%(Fp4E0[E])
@ REL | =72l @IREE) =HY) @T4fEAT)—) @I AEIEWL) 6 672 |[VAE] <Hpii> 3E3R=29.6% 5 15R=50.0%
@ /4D HER=721 F 15 | 1,680 Gy > FE5R=20. 4% 45 0[A])
BAREE |CRYYEYT 99VZ VHeREZE | 70 | 4 | 2&2&6 99.9 | 36.0 | #70.0% 2+1 200 |[~Y] <G@F>F4R=96.0%(FF4E30[E]=84.0% 50[F=12.0%)
(N1-28&) U | (0/30/50/94F) | &10&8&10 #k84.0% g 4 288 G > A 15R=4.0%(BF4E94A])
Ay BF =—dm=2@EHEk |Vyr6lE) 4+1 344 ([T 2 1<HEZ> 42+ F1R=38.0% 454+ F 1R=46.0%
XRVT Ay h—=8{E B Bk 15 1,080 G > A7 15R=16.0%(BF£5 94[1])
@R E = LT O A AT 4y H—=1018 B Bk Yy MREOD R B IR 0]
@ ERTEE | =72 @IREH) =HY @ISEAT)—] @I AENATHIL]
@ /)40 | fER=1/145.6 (~) +1/50.0 (BEF =2—) ‘
CRUTE YT 99VC VHEREZ | 7 | AFESE | 3&2&6 99.9 | 26.7 | #70.0% 2+1 128 [[~Y] <GB >F54R=95.0%(HFHE64[01=65.0%- 84[a]=30.0%)
U | (0/64/84/94[A0) | & 10&5&7 #£65.0% g 4 192 > A5 15R=5.0%(RE94[m])
NKEBFa—EHEk=2MA (Vv M[aED) 4+1 224 |[EFa—]<HEZ>F2+ T 1R=30.0% F74+ F 1R=35.0%
STFVT 2y hi—=5M8H Bk 15 720 GEE > A5 15R=35.0%(FF4E94[m])
@ E = LT DA AT 4y h—=TEEHEK Yy MREOD R B TR0
@ ERIEZE | =72 @IREH) =HY @ISHAT)—] @I AEIATHIL]
@y R =ET | | | |
210 | IXF |CREILEWZ L4 GNB| VST | STH 100[E] 3&3&4 319.7 | 61.24 | ¥55.0% 3+1 416 [[~Y] <HfZ=> b5+ 1R=55.0%(F 100[=])
(#7#] BIRA &14&14 #£100.0% g 5+1 624 <G> b FE6R=45.0%(F45 100[E])
@ FFE = LT O AR WE% | 100 [TV, E7sor—dL@=14@EER | (ST=124) FZE6 | 624 [[BF2—]<HEZA> E3+F1R=50.0%(45 100[a])
@ B RIEZ | =[E U417 @IRET) =by @I8EAE)—) @IEF=—ELIHk] 15+1 | 1,664 5> 15+ F 1R=50.0%(HK"100[m])
@ /YY) | fER =71
CRETTZEM VT4 LNA| VST | ST 100E] 3&3&4 319.7 | 73.06 | #755.0% 3+1 560 |[~Y] <GfeZs> 15+ F 1R=55.0%(34"100/E])
NG &15&15 #E100.0% 0 5+1 840 > b F6R=45.0% (4 100[E])
@ E = [T H AR WE# [ 100E%TFV, E74yr—3@E=15@EER | (ST=124) EE6 | 840 [[HEF2—]<HEZ> B3+ 1R=50.0%(% 100[=])
@ ERIEA ) =01 50)]2 14~ @IREH | =HY @ISHAE)—] @IET =—MEH k) 15+1 | 2,240 <FEZE> E15+ T 1R=50.0%(FK°100[=])
@ /YY) | fER =71
EXCITE |[CRTFANAL T F AT (=— VHEST | STH 1515 3&2&10 318.1 | 96.09 | #750.0% 3+2 480 |[~Y] <HEZ>TFHE14+ E1R=40.0%CHK 151[H])
M3—KE W 50(a]|  &13&13 #£100.0% g TE 14 1,344 75> F 14+ F2R=10.0%H K151 ])
WEBFa—EHK=2M1 (ST=151) 14+1 | 1,440 GE > T F214R=50.0%(HF4HE50H])
@ FFE = LT O AR T, EVToyh—4kim=13{E EHEk 14+2 | 1,536 |[EF2—]<hEZ> N3+ E2R=25.0%(FF 151[H])
@ E R =72 @IREH) =HY @I8HAE)—| @IEFT —EIiH (k] <S> F 14+ E2R=75.0%(F %151 [=])
@ /)Y =1L | | | |




¥ ARSI, BAVERDHLG A . TR A— VI, info@tke—g.jp FTITHEAELIZE N, [20164F 2H] <=2 4>
HFEH ~ marg | ma N RYDfE=R1/ ) |fes T 4w —VEREMAX) .
om |27 WA, BT | i u= e e A A 355, O ONIZRFEREE L TOET,
210 | KEBHEHF |CR3X3EYES VLO3 VST | sTH 60[E]| 3&1&8 239.2 | 26.6 | #50.0% 2+1 252 [~V <eZs> 92 F 2+ F2R=50.0%H60[H])
WE% [ 100m]| &10&13&13 #1£100.0% 2+2 336 GEH>FE T2+ E2R=50.0%(IK4E 100[H])
MEF2—HEK=14 (ST=60) ; 3+3 504 [[FEF2—]<fEZ>[HF60[E]] F2+ E1R=70.0% T3+ E3R=7.5%
@ =TT HAEEE) XV, 74y h— =138 H K 5+4 756 e[ YHR°60[A] ] F5+ 14R=7.5% F6+_E6R=5.0%
@ IERIEZ =72 @IREH) =HY @I8HAE)—| @IET =— ik 6+6 1008 > [R°60[8]] T8+ 7R=10.0%
@ /4D HER=721 8+7 | 1,260
7 [ |[CREVF—F—1 VHEST | sTH 100F]| 3&2&6&14 | 199.8 | 44.86 | #0.5% 351 |[~Y]  <HEZE>16R=0.5%( 100[A])
(J247) MEOREFE MB R 100[0] | EBF = —E Ek =2 #E100.0% 4 468 < >4R=99.5%(FF 45 100[H])
(ST=100) 6 702 |[EEFa—]<HEZE> [HK°100[E]]3R=50.0% 4R=20.0%* 6R=10.0%
9 8 936 <HEZE> [#47100[H ]8R=10.0%+ 10R=1.0% 12R=1.0%
10 1,170 25> [44°100[E ] 14R=1.0%* 16R=7.0%
@ E = [T O AR 12 1,404
@ E R | =7 @IREH)=5HY @I8HAT)—| @IET =—MLiH{k) 14 1,638
@ /YY) | FER =71 16 1,872
E F |CRAZKZTZ=AT4L 9AU | ZAST | STE |[200r100 | 3&2&5 99.9 | 36.1 | 100.0% 0 5+1 470 ([~Y]  <HEZE> 15+ T 1R=97.0%(F4°20[a])
&10&3&10 (ST=20) 15+1 | 1,370 <HZE> 15+ T 1R=3.0%(¥5 100[A])
KEF 2—HEk=2M [BF2—]<HEZ> b5+ F1R=97.0%(4 5 100[=])
@15 = [T H kR KTV ayh—=38, 74y h—=10f8 5 Ek <fEZE> 15+ F 1R=3.0%C K 100/E])
@ ERIMEA =72 @IREH) =7l @I8HAE)—] @IET=—ELH{L)
@ /140 R =72l |
CRAJAWS 9AV1 VHEERYE | 18 30E][ 3&1&5 99.9 78.8 | #166.0% k55| 450 ([~V] <HEZ> ESE4+ T 1IR=60.0%HFH°90[E]+ o)
&8&4&11 #%100.0%| 9 4+1 387 <HRZE> B+ T 1IR=6.0%FF90[E+ o)
KEF 2—HEK=11 (#57%=1/100.1) 11+1 | 1,017 <> b 3E5R=34.0%(p45 30[a])
MRVT4yh—=MEBE ER [EFa—] FeZs> B4+ F1R=90.0%
K ETry =114 B Ek (R HETEIE=15.0% HF90[E]+ o =75.0%)
@55 = [T HIH | CHEZE> 111+ F 1R=10.05(H K901+ o )
@KL | =72l @IREH)  =HY @I8HAE)—) @IET=—E/iH) ¥90[R1 %8 % CHEATE Y B2 R ke
@ /4 ffEsR=1/300 (-~ D) | SEO0[EI AT DOHRTEIRE | B 1% 90[E RS
K—EE |CRARL! ! B KS—S VHEST | ST — 4&2&4 99.9 [ 52.2 | #12.0% 143 200 |[~Y] <HEZ> T 91+ E3R=2.0%(4 & 55[E1=1.0% 74[A]=1.0%)
()1-2%) WRE &6&6&6 #E100.0%| 10 5+3 400 GE > T 321+ E3R=98.0%(Kf4E55H])
W% 550813~V B ER=41H (ST=74) 13+3 | 800 |[FEF=—]<HEZ> T 1+ E3R=30.0%¥H 74[=])
KEF 2 —E k=2 25> T 5+ 3R=10.0%(F & 74[A])
@R = [ LT H AR T, EV7ayn—3tim=6fEE 5k 75> T 13+ E3R=60. 0% 74[A])
@ B RIEL | =[5 U]4 (7 @IREE) =HV @ISHEAT)—) @IET=— ik,
@ /)Y e =72l | | | | |
28 H




